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XTI A=A L AETHERES XA LT —T )V

No | HERE AU Round iR Heet|  Up fEH HIE Time

8:00 |FHOER i 30 43

1| 8:25 [Ya=T7YuaR—//L—2A W& | 17THE | 2H |12 Up wT 4 | 64
2| 8:31 [FLA7 35y
3| 8:34 [YVa=TYuR—/L—LA YR | 120 | 2H 6 Up WT 2 fh 34y
4| 8:37 |[7v ¥=760 R—/L/L—A WRF&|2Tf | 3H | 24Up| WTF 9 | 14 %y
5| 8:51 |Ya=T7YaR—NLL—24 N 6 | 1H | IBE wT 2 | 34y
6| 8:54 |[Fu =7 R—/Lb—L4 1WRFE| 20/ | 2H | 20Up| WTF 6 | 9%
7| 9:03 |[V=2=T R—/bL—L 1xREER)| 54 | LH 5Up| WTQ 3| 547
8| 9:08 |[7v =760 R—/L/L—A 2P| 244 | 2H | 12Up| WTF 6 | 9%
9| 9:17 |Va=T R—jb—254 " B 5#L | 1H ERZ | WTQ 3 ith 5%y
10| 9:22 |FEX Ya=TVe R—NAl—b Va=mTR—ILL—A 1 6 57
11| 9:28 |Fu v =7 R—//b—54 2TE| 2041 | 2H | 12Up| WTF 6 | 9%
12| 9:37 |F'u JCFra—X 77 AYdw 1RF&| 13| 1H |13Up| CSP 3| 54y
13| 9:42 |7u JCF/a—X R—/L/b— 1 RT3 | 244 | 2H | 18Up| WFQ 6 | 9%
14| 9:51 |Ya=7yuF5o 7 AV WkTE| 210/ | 2H |12 Up CR 48 | 647
15| 9:57 |[FLA2 35
16| 10:00 |¥=2=7>uF7 7 AV Wik | 12/ | 1H 6 Up CR 286 | 34y
17| 10:03 |72 JCFZu—X R—/LjL— 1 2P| I8H | 2H |12 Up WFQ 6 | 9%
18] 10:12 |Va=7Yuas7r 7 AV h W 6% | 1H | Bz CR 2 ith 35
19]10:15 |70 v =7 SFLT7 AV TREER)| THL | 1H 7 Up CSR 3| 547
20( 10:20 |Va=7 FTUT AVA 1REER) 9K | 1H 6 Up CSR 3| 547
21| 10:25 |7~ >=760 R—/L)b—24 WPl | 124 | 1H 6Up| WTF 3 ith 5%y
22| 10:30 |Fu =7 R—/Lb—24 Yes | 1248 | LH 6Up| WTF 3 ith 5%y
23| 10:35 |71 JCFZ/u—X 70T AV h Y | 134 | LH 6 Up CSP 3 dh 55
24(10:40 |Va=7 FTVT AVA wops | 6| 1H | NEAL CSR 3dh | 54y
25( 10:45 |71 JCFZ7r—X R—/L/L— 1 WS | 1241 1H | 6Up| WFQ 3| 54y
26| 10:50 |EHX Ya=T7VusiTy Va=rI7r 1 dh 6 7
27(10:56 |R77m—X  7~7 %, 5li&, AU —P L 16 # | 57 4y
28| 11:53 |BD# RTA—F 3| 154y
29(12:08 |70 =72 SFLT AVH 1KTE® | 37TH# | 4H | 32Up| CSRP | 16 i | 26 %
30[ 12:34 | 7m0 A—7> R—b—1 TRTE| 69 | 7H |48Up | WTFQ | 28 i | 44 4
31| 13:18 |7~ =T SFLT AV kP& | 22/ | 2H | 12Up| CSRP 8 Hi | 14 %y
32[13:32 |7~ =70 R—L)—1 TRTE®E| 30/ | 3H | 24Up| WTFQ | 12 | 20 %
33| 13:52 |7 u A= ST T AVH 2T | 324 | 3H | 24Up| CSRP | 12 | 20 %




No | R AU Round HAEKL Heet|  Up fiH HIE Time
34[ 14:12 |70 =7 R——1 2RTE | A8 ML | 4H | 24Up| WTFQ | 12 | 26 %y
35| 14:38 |7 = A —7"0 R—L)b—1 2T | 244 | 2H | 12Up| WTFQ 8 Hi | 14 %y
36| 14:52 |70 A—Fv S5 T AVH 3KTE| 248 | 2H | 12Up| CSRP 8 Hi | 14 %y
37| 15:06 |[7'm A —T7"> A—Lb—A BRTE| 244 | 2H | 12Up| WTFQ 8l | 14 %
38| 15:20 |7~ A= FTUT AVA YeWs | 1248 | LH 6Up| CSRP]J 5dh | 10 43
30| 15:30 |7~ H—7> R #ech | 1248 | 10| 6Up |WTVEQ| 5| 104
40| 15:40 |7LA2 5 %%
41| 15:45 [FFAT v W2 T2 F2 Q1 CIR1| 9#i | 184
42| 16:03 |7LA2 563\
43| 16:08 |7 LT AT ELVAR —Ta 14 Hh 5263\
441 17:00 | 74— 50 43
45| 17:50 |HOE ELE=— RERN F—7 =070 —F FEERN 30 43
46| 18:20 |7~ > =760 R—/L/b—L W B 6% | 1H lEfz | WTF 3 ith 54y
47| 18:25 |7 a v =T FTUT AV B w THL| 1H JIEfT. CSR 3 h 5%y
48] 18:30 |71 v=7 R—/L /L —LA s 6# | LH JIEfz | WTF 3 ith 5%y
49(18:35 |71 JCF/m—X 77 A1 B 64 | 1H JlEfz | CSP 3 dh 5%y
50| 18:40 |71 JCFZ7m—XR HR—/L)b—24 s 6% | 1H iGN | WFQ 3 h 5%y
51| 18:45 |7 & ERB P AS LT =— 0%
52| 18:55 |FETF—A—Tar 5 4y

| 19:00 l 27T s | (2| 6H [ 6| 6 | 8%

19:08 12 #H 1H 6 Up CSRJ 4 8 &
54/ 19:16 | i oo ey o | 1271|611 6| @ 61t | 8%

19:24 124 | IH | 6Up| WTVF 4 | 8%
55| 19:32 [TV AINYTU—R 30 47
56| 20:02 |7~ A =72 FTLUTAVH w W 6% | 1H JIERZ | CSRPJ 5 | 10 47
57| 20:12 |7~ A —7 > R—LL—L W | 64| 1H JEMZ | WTVEQ | 58k | 104
58| 20:22 |7'm A—Tv FTUT AVA w’B | 64| 1H JIEfZ | CSRP)J 5 | 10 4y
59(20:32 |7'a A—TF > R——A W | 6% | 1H JlEpz [ WTVFQ | 5l | 10 47
60| 20:42 (W& £ THBSELE=— 10 53
61]20:52 [REX AF—F A 15 57
62| 21:07 |REX 7~ FT7LT AN/ R—b—2A 6 77
63| 21:13 |7~ #EEE A —F R 45
64| 21:17 |REX v F70T7AIBY ) R——h 6 77
65| 21:23 | 7R E - VEENSE 4 —F R 10 %
66 21:33 |




